EXERCISES — Composite & Piecemeal Functions

Giventhat f(x)=x+2 and g(f)=¢>+¢
Find: (a) f(g(t)=
md () g(f(x))=

Given that h(w) — _1_T and f(u) = u2 -1
w+

Find: (a) f(h(w))=
and (b)) A(f(u))=

X ; for 0<x <2

Given that:  f{x) = I‘ 6—x ; for x 22
_ x+4 ; for x <0

(a) Evaluate: f{0)— fl1)+ 5/(3) = (b) Sketch the graph of: y = f{(x)
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Find the inverse function f -I(x) if:

@ fi) = 2x-5 ) fly= 2= © fln= 12

G




5. Giventhat )= —*— ; and g() = /4-x2
1

What is the natural Domain of (@ flx) and

(b) g(x)

6. Sketch the graphs of:

(@) y:|2x—3| (b) y=|x+2l_3
* A
ANSWERS:
1. (a) P+t+2 (b) X*+5x+6 2. (a) L 1 o —w(w+22)
(w+1)? (w+1)
3. (a) 4-1+15=18 (b) , 17
5

ey 5 Aoy = 16 . S|
4@ 0= O @ @) © S0

5. (2) D={xeR: x#l andx -1} (b) D= {xeR: 2<x<2}
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